Грамматика и лексика 
Задания группы B
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Прочитайте приведённый ниже текст. Преобразуйте, если необходимо, слова, напечатанные заглавными буквами в конце строк, обозначенных номерами В1-В7, так чтобы они грамматически соответствовали содержанию текста. Заполните пропуски полученными словами. Каждый пропуск соответствует отдельному заданию из группы В1-В7.

EU

One  of   the   main  barriers to growth,  trade                                                                                      and    integration,   apart    from   tariffs    and                                                                     ___________ strategy, is language.                 

ECONOMY

B1. ………………….. 

The  growth  and  development   of  the Euro-                                                                                    pean       Union     means     that      companies                                                                          ___________ in  the UK  have to employ staff

BASE


B2. …………………..         who  can  communicate   with   their   EU  cus-
                                                                            tomers  and  suppliers.  The  demand  for  lan-                                                                                     gauges  in  the  job  market  continues to grow                                                                                        at a ___________ rate.




PHENOMENON

B3. ………………….
As  Europe _____________ its    borders   with

EXPAND

B4. …………………. free   trade   and equal opportunities  for each                                                                               partner         country,       more         companies                                                                          ______________ their   offices    into   one  lo-

CONSOLIDATE

B5. ………………… cation,   instead   of   having   an  individual of-                                                                                     fice  in each.  With    the   development  of the                                                                                internet    and    the   rise of   cheap     internal                                                                           European flights, Europe ______________  so

NOT BE


B6. ………………… close.
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